cJ H®A

Table TM020-11

Standard solutions for CNC press brakes

CE and non CE design

Monitored safety directional
valve for prefilling control

Servoproportional
synchronization
control valve

Balancing valve

Proportional
relief valve

Monitored safety
cartridge valve

Max pressure relief valve
according to CE machine directive

Standard electrohydraulic solutions for
CNC synchronized press brakes are
available in three sizes with different
executions:

PBO06, solution with central block design

for small / medium machines, including:

e central manifold with proportional
pressure control, size 06 synchronization
servoproportional valves, safety valves.

PB10, solution with modular blocks design

for medium / big machines, including:

® size 16 or 25 pressure control block

en°2 size 10 synchronization control
blocks, at choice to be installed on the
prefilling blocks or assembled in any
other point of the press brake.

PB11, solution like PB10, but with size 10P

pilot operated proportional directional

valves for synchronization control with high
flow performances )

PB*-C designs are CE certified by TUV

according to the EN 12622.

PB*-N are non CE version, without

monitored safety valves.

See sections (1) and (5) for blocks

composition and available proportional

controls.

Servoproportional
synchronization
control valve

Balancing valve

Monitored safety
cartridge valve

PB06-C-HTE-P*-16

E MODEL CODE OF BLOCKS SOLUTION

| PB 06 |-| N

- |HTEB| - | NP P3 |-

16 | - | CR

Press brake solution

Size and design

06= size 06, central block
10= size 10, modular block
11= size 10P, modular block

Design certified
C = CE certified
N =non CE

Double solenoid, 3 position, w/o driver and transducer
(driver functions included in machine CNC or by separated driver)
HE = ZE solenod

HA = ZO solenoid

Double solenoid, 3 position, with transducer

HT = without driver (1)

HTE = analog driver

HTEB = basic digital driver

HTES = full digital driver with optional fieldbus interfaces
Single solenoid, 4 position, sleeve execution with fail safe
LT = without driver (1)

LTE = analog driver

LTEB = basic digital driver

LTES = full digital driver with optional fieldbus interfaces

Optional crowning
function, see sect. g,

Pressure control block size
16 = size 16 for PB06 and PB10
25 =size 25 for PB10 and PB11

Regulation characteristic (at Ap 15 bar per edge)

size 06-H: size 06-L:

P2 =28I/min  L31=9I/min

P3 =401/min  L51=181/min

P5 =50I/min  L71 =27 |/min

size 10-H: size 10-L: size 11-H:

P2 =60I/min  L31=401l/min P5 =160 I/min
P3 =80I/min  L71 =60 |/min

P5 =105 I/min

Optional fieldbus interfaces only for HTEB, LTEB, HTES and LTES:
(HTEB and LTEB basic executions available only in NP)

NP = none

BC = CANopen

BP = PROFIBUS BP

EH = EtherCAT

(1): including separated card driver E-ME-T-2*H (Eurocard format)

E MODEL CODE OF PREFILLING BLOCKS

| PFB - 25

Prefilling block

Prefilling size (2)
25,32,40 normally coupled with solution type PBO6
50, 63 normally coupled with solution type PB10 (11)

(2):Other prefilling sizes or based on customized mounting surfaces available on request

TM020


www.atos.com

@ BASIC FOR THE SIZING OF THE BLOCKS SOLUTIONS

. Proportional valve nominal flow . Nominal prefilling valve
Press(\E%)Force Purl;]p‘flow Workm(% pr)essure Block solution model code at Ap 15 bar per edge P f‘”‘Typ\claI ) flow in suction condition
(I/min) ar (/min) refilling valve size (1/min)
400 - 1250 ) 28, 40, 50 for control type HE, HA, HT, HTE, 25 150
1250 - 2000 Up to 50 Z‘? :qao' d-;i HTEB, HTES 32 225
2000 - 3000 9, 18, 27 for control type LT, LTE, LTEB, LTES 40 350
3000 - 6000 % 50 500
Up to 150 Upto 315 PB10-*-16
6000 - 10000 all models 60, 80, 105 for control type HA, HT, HTE, HTEB, 63 800
HTES
10000 - 15000 Up to 220 Egl?:gg 40, 60 for control type LT, LTE, LTEB, LTES To be defined,
B P all models depending to the machine characteristics

Note: The above data are indicative. The sizing of the block solutions must be checked by Atos according to the specific machine characteristics

E MAIN CHARACTERISTICS

Ambient temperature

-20°C to +70°C for -A execution; -20°C to +60°C for -T, -TE, -TEB and -TES executions.

Fluid

Hydraulic oil as per DIN 51524 .... 535

Recommended viscosity

15 + 100 mm?/s at 40°C (ISO VG 15 + 100)

Fluid contamination class

ISO 18/15, achieved with in line filters at 10 um value to B4 = 75 (recommended)

Fluid temperature

-20°C +60°C

@ BLOCKS ASSEMBLING

Control block solution

Composition

PB06-*-HE P*-16
PB06-*-HA P*-16

PB06-*-HT P*-16

PB06-*-HTE P*-16
PB06-*-HTEB P*-16
PB06-*-HTES P*-16

PB06-*-LT L*-16

PB06-*-LTE L*-16
PB06-*-LTEB L*-16
PB06-*-LTES L*-16

Ne 1 central synchro block ) with size 06
proportional valves without transducer, dri-
ver functions integrated in the machine
CNC, and size 16 proportional pressure
control.

N° 1 central block (1) with size 06 double
solenoid proportional valves with position
transducer and size 16 proportional pres-
sure control.

N° 1 Eurocard driver E-ME-T-25H.

as PBO6-*-HT but with size 06 servopro-
portional valves with transducer and inte-
gral electronics: analog (HTE), digital
basic (HTEB), digital full with optional
fieldbus interfaces (HTES)

as PB06-*-HT but with size 06 single solenid
servoproportional valves, 4 position, sleeve
execution, with transducer

as PBO6-*-HT but with size 10 single sole-
nid servoproportional valves, 4 position,
sleeve execution, with transducer and
integral electronics: analog (LTE), digital
basic (LTEB), digital full with optional field-
bus interfaces (LTES)

@ Central
2.1 Prefilling block

synchro block (TE)

@.) Prefilling block

Beam
cylinders




@ BLOCKS ASSEMBLING

Control block solution

Composition

PB10-*-HE P*-16
PB10-*-HE P*-25
PB10-*-HA P*-16
PB10-*-HA P*-25

PB10-*-HT P*-16
PB10-*-HT P*-25

PB10-*-HTE P*-16
PB10-*-HTEB P*-16
PB10-*-HTES P*-16

PB10-*-HTE P*-25
PB10-*-HTEB P*-25
PB10-*-HTES P*-25

PB10-*-LT L*-16
PB10-*-LT L*-25

PB10-*-LTE L*-16
PB10-*-LTE L*-25

PB11-*-HT P*-25

PB11-*-HTE P*25
PB11-*-HTEB P*25
PB11-*-HTES P*25

N° 1 proportional pressure control block
size 16 or size 25 ®)

Ne 2 synchronization blocks (1) with size 10
proportional valves without transducer,
driver functions integrated in the machi-
ne CNC.

N° 1 proportional pressure control block
size 16 or size 25 (3.

Ne 2 synchronization blocks (D) with size
10 servoproportional valves with tran-
sducer.

N° 1 Eurocard driver E-ME-T-21H

as PB10-*-HT but with size 10 servopro-
portional valves, with transducer and inte-
gral electronics: analog (HTE), digital
basic (HTEB), digital full with optional
fieldbus interfaces (HTES)

as PB10-*-HT but with size 10 single sole-
noid servoproportional valve, 4 position,

sleeve execution, with position transducer

as PB10-*-HT but with size 10 single sole-
noid servoproportional valve, , 4 position,
sleeve execution, with position transducer
and integral electronics: analog (LTE),
digital basic (LTEB), digital full with optio-
nal fieldbus interfaces (LTES)

as PB10-*-HT but with size 10P pilot ope-
rated servoproportional valve, with posi-
tion transducer

as PB10-*-HT but with size 10P pilot ope-
rated servoproportional valve, with posi-
tion transducer and integral electronics:
analog (HTE), digital basic (HTEB), digital
full with optional fieldbus interfaces (HTES)

(@ Synchro block (TE)

2.3 Prefilling block

(@ Pressure block

(D Synchro block (TE) @ Prefilling block

Beam
cylinders

2.2 Prefilling block

@ Synchro block (TE)

@ Pressure block

Synchro blocks mounted on the prefilling
blocks (only for PFB-50, PFB-63)

(@ Synchro block (TE)

23 Prefilling block

Beam
cylinders

Synchro blocks mounted separated
from the prefilling blocks

Prefilling block model code

Description

PFB-25, 32, 40

PFB-50, 63

Separated prefilling blocks 2.1, size 25, 32, 40 to be selected according to the machine characteristics - normally coupled with PBO6 solution

Prefilling blocks 22, size 50 or 63 to be selected according to the machine characteristics - normally coupled with PB10, PB11 solution




@ CENTRAL BLOCK DESIGN TYPE PB06

6.1 Certified hydraulic scheme -C (with -HE proportional control type)

7777777777777777777777777777777777777777777777777777777 Pos Description Atos code N|-C
[o o g °
‘ @ ! 1 SUBPLATE )
ree I o] sarervvaive DHE-0631/2/FV-X °
| T o) \
| r%,,,,‘ i ©) ©e i 2.2 | DRECTIONAL VALVE DHE-0631/2/-X °
" ! ! " "
i dﬁf%ﬁ ‘ % ‘ 3 | PROTOFTONAL | 150101 SDHZE-AO71-L | ® | ®
C . | '
| 5 «éifr,i | SAFETY PRESSURE
| | @ | o | o ‘ 4 | e vaE CART M4/350/RS L)
i - | I}® ‘ 5 | BALANCING VALVE CART M4/350/R o0
|
i ! @ @ @ \ 6.1 | SAFETY VALVE JO-DL-4-2/FV-X °
m, H !
m)| \ 6.2 CARTRIDGE JO-DL-4-2INC-X
H
TL ,,,,,, o= 7 | CHECK vALVE DR-5/G

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves (2) and ®

6.2 Installation dimensions of PB06-*-HE central block

8 [PROP. RELIEF VALVE

LIMZO-A-1/315/18

9 CARTRIDGE

15 -KM-503600

10 MINIMESS

Y-AK-04-GOR

11 | PREFILLING VALVE

255
36 180 39
163 85
~ f
] P Pl ol © [
o
" g & E 4 B P2
g
m
n
5
. e
o
—f
LiiV
WJ
# =1
| =13

Dotted line = PB06-C execution

15

70

Sensor plastic connector
to be ordered separately

Fastening bolts:
2 socket head screw M8x110 class 12.9

Port dimensions:
P1=G 1/2" P2=G 1/2" (plugged)
T=G3/4"
T1=G1/2"
A/A1/A2=C 3/8”
B =G 3/8"
B1/B2=G 1/2”
=G 1/4”

TM020




6.3 Certified hydraulic scheme -C (with -HA proportional control type)

7777777777777777777777777777777777777777777777777777777 A Pos|  Description

Atos code

11 | PREFILLING VALVE

i \ 1 SUBPLATE
b ‘ 21| SAFETY VALVE DHE-0631/2/FV-X [
I T \
| r%,,,, i | |22 DRECTOVALvALE DHE-0631/2/-X °
I 1l
i \LL* -T % al | 3 PROF\’/%FE‘EONAL 090290 DHZO-A-071-L* | ® | ®
' . 1! '
| S «@fw | SAFETY PRESSURE
i } o } | I ® ‘ 4 RELIEF VALVE CART M4/350/RS [ N ]
i - | 5 ‘ 5 | BALANCING VALVE CART M4/350/R o0
|
. i ! @ @ | 6.1 | SAFETY VALVE JO-DL-4-2/FV-X °
: h .
@) | |62| cartRiDGE JO-DL-4-2INC-X °
' i
L R o=t | e J 7 CHECK VALVE DR-5/G L
[F&) 1 g ® [ - ® 8 |PROP. RELIEF VALVE]| LIMZO-A-1/315/18 [ N ]
% <E 9 CARTRIDGE 15 -KM-503600 o0
10 MINIMESS Y-AK-04-GOR o0
oo

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves (2) and ®

6.4 Installation dimensions of PB06-*-HA central block

255
36 180 39
163 85
.
~ Lf 3|
H H
i f
i o
a1 P el ©
d.
g o
- B P2
m
.
.
n
o | |
| |
L=
rL % L,,'
] |
L J
" £
| 11D

Dotted line = PB06-C execution

82

e
i

L ZBE-06 G

Sensor plastic connector
to be ordered separately

Fastening bolts:
2 socket head screw M8x110 class 12.9

Port dimensions:
P1=G 1/2" P2=G 1/2” (plugged)
T=G3/4"

T1=G1/2"
A/A1/A2=G 3/8”
B=G3/8"
B1/B2=G 1/2”

=G 1/4"




6.5 Certified hydraulic scheme -C (with -HT, -HTE proportional control type)

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves (2) and ®

6.6 Installation dimensions of PB06-*-HT(E) central block

Pos Description Atos code N | -C
1 SUBPLATE o0
21 SAFETY VALVE DHE-0631/2/FV-X °

2.2 | DIRECTIONAL VALVE DHE-0631/2/-X °
3.1| PHORORTONAL | 090200 DHZO-T-071-L- | @ | @
32| PHORORTONAL | 090200 DHZO-TE-071-L | @ | @
4 | SAFETYPRESSORE | GART M4/350/RS )
5 | BALANCING VALVE CART M4/350/R o o
6.1 SAFETY VALVE JO-DL-4-2/FV-X °

6.2 CARTRIDGE JO-DL-4-2/NC-X o
7 CHECK VALVE DR-5/G oo
8 |PROP.RELIEF VALVE|  LIMZO-A-1/315/18 o |0
9 CARTRIDGE 15 -KM-503600 o |0
10 MINIMESS Y-AK-04-GOR o |0
1 | PREFILLING VALVE o0

255
36 180 39
163 |85

mhy
mill;

)
[€]
(¢]
—°]
)

il

110
93
S
e

P2

N fand

313

85

125

1]

ZBE-06
Sensor plastic connector,
to be ordered separately

35

Safety valves with monitor
signal only for -C execution

Fastening bolts:

Port dimensions:
P1=G1/2"
T=G3/4"
T1=G1/2"
A/A1/A2=C 3/8”
B =G 3/8"
B1/B2=G 1/2”

M* =G 1/4”

—— ZH-7P
Power supply connector metallic or plastic,

to be ordered separately

905

2 socket head screw M8x110 class 12.9

P2 =G 1/2" (plugged)

Dotted line = HTE proportional control type

TM020




6.7 Certified hydraulic scheme -C (with -HTEB, -HTES proportional control type)

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves (2) and ®

6.8 Installation dimensions of PB06-*-HTES central block

Pos Description Atos code -N|-C
1 SUBPLATE [
21 SAFETY VALVE DHE-0631/2/FV-X °
2.2 | DIRECTIONAL VALVE DHE-0631/2/-X °
3.1| PHORORTONAL 090200 DHZO-TEBNP-071-L:| @ | @
3.2| PHORORTONAL | 600090 DHZOTESNP-O71-:| @ | @
4 | SAFETYPRESSORE | GART M4/350/RS )
5 | BALANCING VALVE CART M4/350/R [ I ]
6.1 SAFETY VALVE JO-DL-4-2/FV-X []
6.2 CARTRIDGE JO-DL-4-2/NC-X o
7 CHECK VALVE DR-5/G oo
8 |PROP.RELIEF VALVE|  LIMZO-A-1/315/18 o |0
9 CARTRIDGE 15 -KM-503600 o |0
10 MINIMESS Y-AK-04-GOR o |0
11 | PREFILLING VALVE o |0

255
36 180 39
163 1 .85 110 155
) = = =
e | bt i
H 3 b
[ 1L {41 ]
1L
@] © | ©
SN 5 8
. 1
m o
3
m. 4
0
un |-
g 1\ L
I =
|
1 T3 T =
o I =
L ) J
. ]
=+€3 =1
FEiH EETE ZBE-06

Sensor plastic connector,
to be ordered separately

Safety valves with monitor
signal only for -C execution

Fastening bolts:

Port dimensions:
P1=G1/2"
T=G3/4"
T1=G1/2"
A/A1/A2=C 3/8”
B =G 3/8"
B1/B2=G 1/2”

M* =G 1/4”

90.5
685

E

2 socket head screw M8x110 class 12.9

P2 =G 1/2" (plugged)




6.9 Certified hydraulic scheme -C (with -LT , -LTE proportional control type)

Pos Description Atos code -N | -C
1 SUBPLATE o0
21 SAFETY VALVE DHE-0631/2/FV-X °
2.2 | DIRECTIONAL VALVE DHE-0631/2/-X °
3.1 [FERVOPROPORTIONAL b 1z0-T-040-L+ oo
3.0 [SERVOPROFORTIONAL D pzo-TE040-L- | @ | @
4 | SAFETYPRESSORE | GART M4/350/RS oo
5 | BALANCING VALVE CART M4/350/R oo
6.1| SAFETY VALVE JO-DL-4-2/FV-X o
6.2 CARTRIDGE JO-DL-4-2/NC-X o
7 CHECK VALVE DR-5/G L )
8 |PROP.RELIEF VALVE |  LIMZO-A-1/315/18 o0
9 CARTRIDGE 15 -KM-503600 o0
10 MINIMESS Y-AK-04-GOR o0
11 | PREFILLING VALVE o0

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves (2 and &

6.10 Installation dimensions of PB06-*-LT(E) central block

305

70

110

125

255
180 39
163 85
@" [ 9 @"
> E P2
£ > E3
d
)
©

35

Dotted line = LTE proportional control type

Wi
\ I T

it

Ty
i

= L

ZBE-06
Sensor plastic connector,
to be ordered separately

Safety valves with monitor
signal only for -C execution

Fastening bolts:

—— ZH-7P

Power supply connector metallic or plastic,
to be ordered separately

15

70

905

685
©
) o

2 socket head screw M8x110 class 12.9

Port dimensions:

P1=G 1/2" P2=G 1/2" (plugged)

T=G3/4"
T1=G1/2"
A/A1/A2=G 3/8"
B=G3/8"
B1/B2=G 1/2

M =G 1/4°

TM020




6.11 Certified hydraulic scheme -C (with -LTEB , -LTES proportional control type)

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves 2 and &

6.12 Installation dimensions of PB06-*-LTES central block

2 Eom &

Pos Description Atos code -N
1 SUBPLATE °
241 SAFETY VALVE DHE-0631/2/FV-X °
2.2 | DIRECTIONAL VALVE DHE-0631/2/-X °
3.1 [FERVOPPOPORTIONAL b Hz0.TEB-NP-040-L- | @ | @
3.2 [SERVOPROFORTIONAL 1 z0-TES-NP-04O-L- | ® | @
4 | SAFETYPRESSORE | GART M4/350/RS oo
5 | BALANCING VALVE CART M4/350/R oo
6.1| SAFETY VALVE JO-DL-4-2/FV-X [}
6.2 CARTRIDGE JO-DL-4-2/NC-X °
7 CHECK VALVE DR-5/G L )
8 |PROP.RELIEF VALVE|  LIMZO-A-1/315/18 o 0
9 CARTRIDGE 15 -KM-503600 o | o
10 MINIMESS Y-AK-04-GOR ()
11 | PREFILLING VALVE o0

Bg®

255
36 180 39
163 85 110
.
) _EHE
| 2] @[l <l ©
[ o
e r @H 8)|(§r &@H 3 P2
]
o || o
JENEAN
) \
.

125

35

==

ZBE-06

Safety valves with monitor
signal only for -C execution

Fastening bolts:

Sensor plastic connector,
to be ordered separately

2 socket head screw M8x110 class 12.9

Port dimensions:
P1=G1/2"
T=G3/4"
T1=G1/2"
A/A1/A2=C 3/8”
B=G3/8"
B1/B2=G 1/2”

M* =G 1/4”

P2 =G 1/2" (plugged)




MODULAR BLOCK DESIGN TYPE PB10

7.1 Certified hydraulic scheme -C (with -HE proportional control type)

Pos| Descritption

Atos code

1 SUBPLATE

PROPORTIONAL
VALVE

150102 DKZE-A-171-L*

SAFETY PRESSURE
RELIEF VALVE

CART M6/350/RS

BALANCING VALVE

B w |

CART M6/350/R

5.1 | SAFETY VALVE

JO-DL-10-2/FV-X

e | o |0 0|~
e o o | @ o |

52| CARTRIDGE

JO-DL-10-2/NC-X

PREFILLING VALVE

6
7 SUBPLATE
8

CARTRIDGE

9 PROP. PRESSURE
VALVE

10.1| SAFETY VALVE
DIRECTIONAL
VALVE

11 | CHECK VALVE

SEE SECTION 9

12 MINIMESS

Y-AK-04-GOR

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves () and

7.2 Installation dimensions of PB10-*-HE synchronization block (for pressure control blocks see section 9.2)

SYNCHRONIZATION CONTROL BLOCK Hydraulic scheme
B1 M3& @

Fastening bolts:
4 socket head screw M8x140 class 12.9

@

J
Port dimensions: i

\

|

P=G1" P1=G 1" (plugged) | y‘%@ ‘
T=G11/4 I ﬁ*

| |

|

A/A1=G3/4 MLIT
B/B1=G 1’
M+ =G 1/4”

Dotted line = PBBC execution
2115

36.5, 175
35 266 140 17.5

105 135

L 525

82

L |

95

2855

P1, A1, B1
side

ZBE-06
Sensor plastic connector
to be ordered separately

TM020




7.3 Certified hydraulic scheme -C (with -HA proportional control type)

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves (3 and

Po

s| Descritption

Atos code

SUBPLATE

PROPORTIONAL
VALVE

070256 DKZOR-A-171-L*

SAFETY PRESSURE
RELIEF VALVE

CART M6/350/RS

e o |0 | =

Sl w | N

BALANCING VALVE

CART M6/350/R

5.1 | SAFETY VALVE

JO-DL-10-2/FV-X

o o o | 0 o ~H

52| CARTRIDGE

JO-DL-10-2/NC-X

PREFILLING VALVE

SUBPLATE

CARTRIDGE

PROP. PRESSURE
VALVE

1| SAFETY VALVE

DIRECTIONAL
VALVE

CHECK VALVE

SEE SECTION 9

12 MINIMESS

Y-AK-04-GOR

7.4 Installation dimensions of PB10-*-HA synchronization block (for pressure control blocks see section 9.2)

T=G11/4

M+ =G 1/4”

SYNCHRONIZATION CONTROL BLOCK

Fastening bolts:
4 socket head screw M8x140 class 12.9

Port dimensions:
P=G 1" P1=G 1" (plugged)

A/A1=G3/4”
B/B1=G1”

Dotted line = PBBC execution

35 266

10 135

=
|

H :

&

=

ZBE-06
Sensor plastic connector
to be ordered separately

Hydraulic scheme

B1

M}’@

@

|
° |
!

n.

.5

175

140 175

52.5

(T2

©
(©)

Qe
¢
1 ose [

[

»O e

95

2855




7.5 Certified hydraulic scheme -C (with -HT, -HTE proportional control type)

Pos| Descritption Atos code -N | -C
1 SUBPLATE °o |0
2.1 | PROPORTIONAL | 070256 DKZORT-171-L- | ® | @
2.2| PROPORTIONAL 1070256 DKZORTEA71-L+| ® | @
3 [SAFETYPRESSURE|  CARTMe/Ss0RS | @ | @
4 |BALANCING VALVE CART M6/350/R o0
5.1| SAFETY VALVE JO-DL-10-2/FV-X °
52| CARTRIDGE JO-DL-10-2/NC-X °
6 |PREFILLING VALVE o0
7 SUBPLATE
8 CARTRIDGE
9 PROPV/F;T\SESURE
10.1| SAFETY VALVE SEESECTION®
102 D\RI\E/CA'[\V(I)ENAL
11 | CHECK VALVE
Note: the -N solution has the same hydraulic scheme but without monitor signal on valves ) and 12 MINIMESS T-AK-04-GOR ‘ ° ‘ °

7.6 Installation dimensions of PB10-*-HT(E) synchronization block (for pressure control blocks see section 9.2)

SYNCHRONIZATION CONTROL BLOCK Hydraulic scheme
B1 M3g @

Fastening bolts:
4 socket head screw M8x140 class 12.9

@

3!
Port dimensions: T

\
|
P=G1" P1=G 1" (plugged) W{ﬁj@ ‘
T=G11/4" : H‘,T
|
|

A/A1=G 3/4” Fo Wﬂm@%
B/B1=G1
M =G 1/4” || ®@

A1

M2 A M1 P1

Dotted line = HTE execution
2115
3 267 36.5, 175
132 135 140 17.5
= ;
&
E H H :
q o
=
1=
e
o o o
ffiiTi q s
o "
foe e
i e
! =]
3!
i
i
| 1
i
[ P1,A1,B1
b---- L side
143
ZBE-06

Sensor plastic connector
to be ordered separately

TM020



7.7 Certified hydraulic scheme -C (with -HTEB, -HTES proportional control type)

Note: the -N solution has the same hydraulic scheme but without monitor signal on valves () and

Pos| Descritption Atos code -N|-C
1| SUBPLATE oo
2.1 | PROPORTIONAL 1150102 DKZOR TEBNP-1711+| ® | ®
2.2| PROPORTIONAL 1450102 DkzORTESNP-171.L: | @ | @
3 [SAFETYPRESSURE | CARTMe/SsORS | @ | @
4 |[BALANCINGVALVE|  CART M6/350/R oo
51| SAFETYVALVE JO-DL-10-2/FV-X °
50| CARTRIDGE JO-DL-10-2NCX | ®

6 |PREFILLING VALVE S
7 | SUBPLATE

8 | CARTRIDGE

g |PFOP PRESSURE

10.1| SAFETY VALVE SEESECTION®

102 DIFECTIONA

11| CHECK VALVE

12 MINIMESS Y-AK-04-GOR ‘ ° ‘ .

7.8 Installation dimensions of PB10-*-HTES synchronization block (for pressure control blocks see section 9.2)

SYNCHRONIZATION CONTROL BLOCK

Fastening bolts:
4 socket head screw M8x140 class 12.9

Port dimensions:

P=G 1" P1=G 1" (plugged)
T=G11/4

A/A1=G3/4”

B/B1=G1"

M+ =G 1/4”

300

165 135

B0 @ —

|
He——
—| @
E\;-
s

o
=
>
-
@
=

L T

Hydraulic scheme

81

M3& @

@

|
!
!

b

2115

175

14

0 17.5

525

M3

82

©]

56

»O o

@

140

330.5

ZBE-06
Sensor plastic connector
to be ordered separately




7.9 Certified hydraulic scheme -C (with -LT, -LTE proportional control type)

Pos| Descritption Atos code -N | -C
1 SUBPLATE o0
SERVOPROPORTIONAL .
2.1 VALVE DLKZOR-T-140-L oo
SERVOPROPORTIONAL .
2.2 VALVE DLKZOR-TE-140-L. °o |0
SAFETY PRESSURE
3 | RELIEF VALVE CART M6/350/RS o0
4 |BALANCING VALVE CART M6/350/R o0
5.1| SAFETY VALVE JO-DL-10-2/FV-X °
52| CARTRIDGE JO-DL-10-2/NC-X °
6 |PREFILLING VALVE °o |0
7 SUBPLATE
8 CARTRIDGE
o |PROP. PRESSURE
VALVE SEE SECTION 9
10.1| SAFETY VALVE
DIRECTIONAL
10.2 VALVE
11 | CHECK VALVE
12| MINIMESS Y-AK-04-GOR ‘ ° ‘ .
Note: the PBB solution has the same hydraulic scheme but without monitor signal on valves 5 and
7.10 Installation dimensions of PB10-*-LT(E) synchronization block (for pression control blocks see section 9.2)
SYNCHRONIZATION CONTROL BLOCK Hydraulic scheme
Fastening bolts: &4 wg ©
4 socket head screw M8x140 class 12.9 [ © ‘
B L |
Port dimensions: ' ‘
P=G 1" P1=G 1" (plugged) ‘ | W\.ﬁj ©) ‘
T=G114" 1 BTTroan 7
A/A1=G 34" \@ ol |
B/B1=G 1" : i :
M+ =G 1/4” ‘ X 5 ‘
d |
TT ﬁﬁ ’
M2 A M1 P1
Dotted line = TE proportional control type
2115
35 267
36.5, 175
132 135
140 17.5
B |©@ o] o
e ms’ | © w | O
ZH-7P 0 O S e 8 ]
Power supply connector e ©;nfnw.$(:) h
metallic or plastic, * © i © 8
to be ordered separately S— N == N
L1 ( 4 B
Lo |
[ i

ZBE-06
Sensor connector plastic
to be ordered separately

Safety valve with
monitor signal only
for -C execution

TM020



7.11 Certified hydraulic scheme -C (with -LTEB, -LTES proportional control type)

Pos| Descritption Atos code -N | -C
1 SUBPLATE o |0
SERVOPROPORTIONAL B
2.1 VALVE DLKZOR-TEB-SN-NP-140-L| @ | ®
SERVOPROPORTIONAL .
2.2 VALVE DLKZOR-TES-SN-NP-140-L*| @ | @
SAFETY PRESSURE
3 | RELIEF VALVE CART M6/350/RS L)
4 |BALANCING VALVE CART M6/350/R o0
5.1 | SAFETY VALVE JO-DL-10-2/FV-X .
52| CARTRIDGE JO-DL-10-2/NC-X °
6 |PREFILLING VALVE L)
7 SUBPLATE
8 CARTRIDGE
o |PROP. PRESSURE
VALVE SEE SECTION 9
10.1| SAFETY VALVE
DIRECTIONAL
10.2 VALVE
11 | CHECK VALVE
12 MiNMESS YAKO4GOR | @ | @
Note: the PBB solution has the same hydraulic scheme but without monitor signal on valves (3 and
7.12 Installation dimensions of PB10-*-LTES synchronization block (for pression control blocks see section 9.2)
SYNCHRONIZATION CONTROL BLOCK Hydraulic scheme
Fastening bolts:
4 socket head screw M8x140 class 12.9 s ®
B1 M3
Port dimensions: @
P=G1" P1=G 1" (plugged) 8
T=G11/4”
A/A1=G3/4 @@
B/B1=G1’ wWeTloan !
M+ =G 1/4” I¥0) 62
[ legs |
g [ g
A1
P
L
M2 A M1 P1
2115
36.5, 175
140 17.5

i

®
[©]
©

82

vs | &

OIE:
3305

@
O
©o

»® o
56

@

140

|

P1, A1, B1
= side

Safety valve with
monitor signal only
for -C execution

Sensor connector plastic
to be ordered separately




MODULAR BLOCK DESIGN TYPE PB11

8.1 Certified hydraulic scheme -C (with -HT, -HTE proportional control type) Pos| Descritption Atos code -N|-C
1 SUBPLATE e |0
PROPORTIONAL
2.1 VALVE 100270 DPZO-T-171-L5 | @ | @
PROPORTIONAL
22 VALVE 100270 DPZO-TE-171-L5 | @ | @
SAFETY PRESSURE
3 RELIEF VALVE CART M6/350/RS o |0
4 |BALANCING VALVE CART M6/350/R o |0
5.1| SAFETY VALVE JO-DL-10-2/FV-X °
52| CARTRIDGE JO-DL-10-2/NC-X °
6 |PREFILLING VALVE o0
7 SUBPLATE
8 CARTRIDGE
g |PROP. PRESSURE
VALVE SEE SECTION 9
10.1| SAFETY VALVE
DIRECTIONAL
10.2 VALVE
11 | CHECK VALVE
12 MINIMESS Y-AK-04-GOR ‘ ° ‘ °

Note: the PBB solution has the same hydraulic scheme but without monitor signal on valves ) and

8.2 Installation dimensions of PB11-*-HT(E) synchronization block (for pression control blocks see section 9.2)

SYNCHRONIZATION CONTROL BLOCK

B1

Hydraulic scheme

; @

M3

Fastening bolts:
4 socket head screw M8x140 class 12.9

@

Port dimensions:

P=G 1" P1=G 1" (plugged)
T=G11/4”

A/A1=G3/4

B/B1=G 1"

M+ =G 1/4”

Dotted line = TE proportional control type

135

33

ai

= (]
T
|

o
,
1 ,’

M3

ZH-7P ;
Power supply connector f:‘i:ﬁﬁ:::“ /!
metallic or plastic, e/

to be ordered separately |

© 00|
s

[c]

L [

82

82

62

315

Safety valve with
monitor signal only
for -C execution

ZBE-06 ———— & |73
Sensor connector plastic
to be ordered separately

TM020



8.3 Certified hydraulic scheme -C (with -HTEB, -HTES proportional control type) Pos| Descritption Atos code N|-C
1 SUBPLATE LI )
PROPORTIONAL
2.1 VALVE 150104 DPZO-TEB-NP-17115| @ | @
PROPORTIONAL
2.2 VALVE 150104 DPZO-TESNP-171-L5| @ | @
SAFETY PRESSURE
3 | RELIEF VALVE CART M6/350/RS LI )
4 |BALANCING VALVE CART M6/350/R L)
5.1| SAFETY VALVE JO-DL-10-2/FV-X .
52| CARTRIDGE JO-DL-10-2/NC-X °
6 |PREFILLING VALVE o0
7 SUBPLATE
8 CARTRIDGE
o |PROP. PRESSURE
VALVE SEE SECTION 9
10.1| SAFETY VALVE
DIRECTIONAL
10.2 VALVE
11 | CHECK VALVE
12 MmEss YAK04GOR e e
Note: the PBB solution has the same hydraulic scheme but without monitor signal on valves ) and
8.4 Installation dimensions of PB11-*-HTES synchronization block (for pression control blocks see section 9.2)
SYNCHRONIZATION CONTROL BLOCK Hydraulic scheme
B1 M3% @
Fastening bolts: @
4 socket head screw M8x140 class 12.9
B
Port dimensions:
P=G 1" P1=G 1" (plugged)
T=G11/4”
A/A1=G3/4
B/B1=G 1"
M*=G 1/4”
2115
405 365 175
135 140 17.5
%
M3
@ g e
&
—

—d

Safety valve with
monitor signal only
for -C execution

ZH-4P/68 ——— 5|
Sensor connector plastic
to be ordered separately

82




E PRESSURE CONTROL BLOCK (FOR PB-10 AND PB-11)

9.1 Hydraulic scheme of pressure control blocks for PB1*

Composition of pressure control block size 16 Composition of pressure control block size 25
T %;777 T ® Pos|  Descritption Atos code N|-C Pos| Descritption Atos code N|-C
1 L j 1 7 SUBPLATE oo 7 SUBPLATE o @
AT .B T B f; ; % ‘ 8 CARTRIDGE SC LI-16313 o0 8 CARTRIDGE SC LI-25313 oo
y
’ g I \T o | PROPPRESSURE || vizoa-/s1si18 | @ | @ o | PROPPRESSURE | zoazmieie | @ | @
! N '
‘ ‘ 10.1| SAFETY VALVE DHE-0631/2/AFV-X ° 10.1| SAFETY VALVE DHE-0631/2/AFV-X °
} @ e 102 DRECTONAL 1 pHE-OB31/2ANCX | @ 102 DRECTONAL | o oeaioancx | o
@ 11 CHECK VALVE CART ADR-10 e |0 11 CHECK VALVE CART ADR-10 [ 2NN )
=
9.2 Installation dimensions of PB10 and PB11 pressure control blocks
PRESSURE CONTROL BLOCK size 16
Fastening bolts: g a0 ®
2 socket head screw M8x95 class 12.9 o
Port dimensions:
= ”
P=G1
T=G1" g
A=G3/8"
B=G 38’ : o~
M2 =G 1/4” —
E] [ —
=5
2535
815 100 72
PRESSURE CONTROL BLOCK size 25 M
© 106 2 o
Fastening bolts: -
2 socket head screw M10x115 class 12.9
M2
€}
Port dimensions: {
P =1 1/4" SAE 6000 3 8
T=G2 T 2
A=G 38" =
B=G3/8 m
M2 =G 1/4” {

40

125

249

Q)

Ay P Ay
SN Kire
U U+
W A\~ "
A :
70

TM020



CROWNING OPTION FOR CENTRAL BLOCK DESIGN TYPE PB06

10.1 Certified hydraulic scheme with crowning option PB-06C (example with -HT* proportional control type)

o T e 1 Composition of crowing option
®|o Pos Description Atos code -N
[ = s-nl11$] s-eoal11$] 12| SUBPLATE °
i r%———i ® ®e e ® e 13 | CROWNING PROP RZGO-A-0 °
| o REDUCING VALVE -A-033
TR
]

s

2 Eigm B

Crowning
proportional
reducing valve

Note: the PB06-N solution has the same hydraulic scheme but without monitor signal on valves 2 and (®

10.2 Installation dimensions of PB06-* central block with crowning option (example with -T* proportional control type)

Dotted line = TE proportional control type

266
36 180 50
163 |85 10 90 45
Crowning =
proportional
= reducing valve
E 2] H
1l
® |
@] © (o \EEE
e \ r.‘%mﬁ ZH-7P
m 2l AR Power supply connector
" ‘}( =3 metallic or plastic,
- ! to be ordered separately
I
Q |
|
@ EEE! & ZBE-06
: - - Sensor plastic connector
to be ordered separately
Crowning
proportional
reducing valve
CENTRAL BLOCK CROWNING BLOCK
Fastening bolts: Fastening bolts:
2 socket head screw M8x110 class 12.9 4 socket head screw M6x50 class 12.9
Port dimensions: Port dimensions:
P1=G1/2" C=G1/4"
P2 = G 1/2” (connected to crowing block) MC = G1/4”
T=G3/4”
T1=G1/2"
A/A1/A2=G 3/8”
B =G 3/8”
B1/B2=G 1/2”

M* =G 1/4"




@ CROWNING OPTION FOR MODULAR BLOCK DESIGN TYPE PB1*

11.1 Installation dimensions of pressure control block with crowning option for PB1* solution

Size 16

For solution PB1* the crowning proportional reducing valve @ is installed on the pressure control block

Fastening bolts:
2 socket head screw M8x115 class12.9

Port dimensions:

P=G1”

T=G1 80 10

A=G3/[8" 38 .

B=G 3/8” 9;

C=G3/m’ o B

M2 =G 1/4” { . MZ@ N 3 }

MC =G 1/4” @T & o @E c@ A}g
.. & |

Block’s hydraulic scheme

Crowning proportional
reducing valve

7175

Crowning proportional
reducing valve ———
type RZGO-A-033

Size 25

For solution PB1* the crowning proportional reducing valve @ is installed on the pressure control block

Fastening bolts:
2 socket head screw M8x115 class12.9

Port dimensions:

P =G 11/4” SAE 3000
T=G2"

A=G3/8"

B=G 3/8”

C=G3//8

M2=G 1/4”

MC =G 1/4”

106 12

48.8
12

=

O

o)

136

160
G1]

3338
(o)
©

0.
=]
Ho

Crowning proportional
reducing valve ————
type RZGO-A-033

TM020



@ INSTALLATION DIMENSIONS OF PREFILLING BLOCKS TYPE PFB-x

. Dimensions Bolts Port
Model code | Size Seal
A B D E F | L M T X P Pp
PFB-25 25 70 28 | @24 | 90 95 | 115 | 155 | M10X90 | OR 4137 | G 1 1/4” - Gg/8” | G1/4”
PFB-32 32 | 100 | 62 | @32 | 130 | 125 | 125 | 185 |[M12X125| OR 149 | G11/2" | G3/8” | G3/8" | G1/4”
PFB-40 40 | 122 | 78 | @50 | 165 | 150 | 150 | 250 | M16X170 | OR 4237 | 2"saeso00 | G3/8" | G1/2" | G1/4”
PFB-25 PFB-32, PFB-40 )
Hydraulic scheme Hydraulic scheme Cylinder surface
?D M
A N
FTrirﬁff " } fan ™ !
. f
i RO
A ﬁJ ‘ - | IN | fia]
| - W0 \ / O— !
= \ B \
I N IR B
A
F
Dimensions Bolts Port
Model code | Size Seal
D E F | L N P M T X Pp
‘hTf “77% PFB-50 50 |@50 | 160 | 180 | 160 | 270 | 45.5 | 17.5 | M16X150 | OR 4237 [2'-" sae3o00| G3/8" | G1/4”
i Liiii&gj
! 8 *J PFB-63 63 | @63 | 200 | 200 | 200 | 330 | 62.5|27.5 | M16X190 | OR 4275 |3” saea000 | G3/8" | G3/8"
EJ ’ |
} ]
.

Cylinder surface

03/15



